[image: image1.emf]
· - - - - 
· [image: image2.emf]
· [image: image3.emf]
· [image: image4.emf][image: image5.emf]
[image: image6.jpg]I'm %U‘rj to 3c+ one whole or 20f30.

I wint o simp\i#j fiese nuwmbes a5 wadh ag
thae fo My sdution o o
Ye.* 20+ Ise3fa0tlls s 3ho =20 Hae is o iagram,
o* snluho':' y e T £
e )

v 2 s /

(¥




· [image: image7.jpg]P>

N\

v

S
N o

2'3_“/3 PN

Tor Yo lis |

Yy5+ At 0= |
T kg |

Vot s r s+ io = i

4M

T Abor ot Yy = 1

vzt =)

ok Ny = )

ey g =

{uwuls. dzor Y5 +3io = |

wint to publith probion




· [image: image8.emf]
· From Lauren the following

· [image: image9.jpg]Lot Yo" Yo *orHo +HotMet Mo tYio + Yo
L e Yo e =i ]
e Ju o o o =1
Y2 4ya=1

+Vios Wit Yot Hot Vol
%zt Baosl

d
3 Vas Yur V2=l "

€. Jons va =3
YerYerotp-1

(PO T il SN £
Blatht Vet el -

15,5/ ¥4=1 ¢! S

o0 yac1 ¥

3 ue 2ps 42061,

74 bnk, chaing: T o A4 4 e ching o the.
%0 i chuin e % ek chone the Y2 o iz, Yty
¥ ool Hiac et





